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1 Accelerating car

A car travels in a straight line to the right. At one moment it moves with speed 4.5m/s
(roughly 10mph). At another moment 10s later it it moves with speed 15.5m/s (roughly
35 mph). Determine its acceleration during this period.
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2 Accelerating aircraft

Two aircraft travel in straight lines directly East. At one initial 120m/s
moment the aircraft have the illustrated speeds. For a while after A
this aircraft A has acceleration 5m/s* and aircraft B has acceleration ' )}'
10m/s*. Both of these result in increasing speed.
a) After the illustrated initial moment, does it seem that aircraft 100m/s
—

A will always move faster than aircraft B? Explain your answer.

b) After the illustrated initial moment, does it seem that aircraft 'B)%
B will always move faster than aircraft A7 Explain your answer.

c¢) Determine the speed of each aircraft 2.0s after the initial moment.

d) Determine the speed of each aircraft 4.0s after the initial moment.
¢) Determine the speed of each aircraft 6.0s after the initial moment.

f) Based on your calculations, do your answers to the first two questions change:
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3 Pool ball collision

A pool ball travels in a straight line at a constant speed toward the 1
cushion on the edge of a pool table. It bounces off the cushion with (),~
no change in speed. Four moments during this process are illustrated. T~ a9
Describe whether the acceleration is zero or not between instants 1 \\Q
and 2, 2 and 3, and 3 and 4. O
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